
SAP ABAP table FPOS {Commitment items}

FPOS

FIPEX [CHAR (24)]

KRTYP [CHAR (5)]

FICTR [CHAR (16)]

VPTYP [CHAR (2)]

KRGRP [CHAR (4)]

HSART [CHAR (1)]

BSAMT [CHAR (16)]

LOGSYSTEM [CHAR (10)]

STR_ID [CHAR (10)]

CISUB1 [CHAR (10)]

CISUB2 [CHAR (10)]

CISUB3 [CHAR (10)]

CISUB4 [CHAR (10)]

CISUB5 [CHAR (10)]

EFICTR [CHAR (16)]

EFIPEX1 [CHAR (24)]

EFIPEX2 [CHAR (24)]

EFIPEX3 [CHAR (24)]

EFIPEX4 [CHAR (24)]

EFIPEX5 [CHAR (24)]

FMCI

MANDT [CLNT (3)]

FIKRS [CHAR (4)]

GJAHR [NUMC (4)]

FIPEX [CHAR (24)]

 FPOS-EFIPEX1 = FMCI-GJAHR 

0..N

0..N

 FPOS-EFIPEX2 = FMCI-GJAHR 

0..N

0..N

 FPOS-EFIPEX3 = FMCI-GJAHR 
0..N

0..N

 FPOS-EFIPEX4 = FMCI-GJAHR 0..N

0..N
 FPOS-EFIPEX5 = FMCI-GJAHR 

0..N

0..N

 FPOS-FIPEX = FMCI-GJAHR 

0..N

0..N

FMFCTR

MANDT [CLNT (3)]

FIKRS [CHAR (4)]

FICTR [CHAR (16)]

DATBIS [DATS (8)] FPOS-BSAMT = FMFCTR-FICTR 0..N

0..N
 FPOS-EFICTR = FMFCTR-FICTR 

0..N

0..N
 FPOS-FICTR = FMFCTR-FICTR 

0..N

1

FMHSART

MANDT [CLNT (3)]

HSART [CHAR (1)]

 FPOS-HSART = FMHSART-HSART 
0..N

1

FMKRG

MANDT [CLNT (3)]

KRGRP [CHAR (4)]
 FPOS-KRGRP = FMKRG-KRGRP 0..N1

FMKRTP

MANDT [CLNT (3)]

KRTYP [CHAR (5)]

 FPOS-KRTYP = FMKRTP-KRTYP 

0..N

0..N

FMMDCISUB1

MANDT [CLNT (3)]

STR_ID [CHAR (10)]

CISUB1 [CHAR (10)]

 FPOS-CISUB1 = FMMDCISUB1-CISUB1 

0..N

0..N

FMMDCISUB2

MANDT [CLNT (3)]

STR_ID [CHAR (10)]

CISUB2 [CHAR (10)]

 FPOS-CISUB2 = FMMDCISUB2-CISUB2 

0..N

0..N

FMMDCISUB3

MANDT [CLNT (3)]

STR_ID [CHAR (10)]

CISUB3 [CHAR (10)]

 FPOS-CISUB3 = FMMDCISUB3-CISUB3 

0..N

0..N

FMMDCISUB4

MANDT [CLNT (3)]

STR_ID [CHAR (10)]

CISUB4 [CHAR (10)]

 FPOS-CISUB4 = FMMDCISUB4-CISUB4 

0..N

0..N

FMMDCISUB5

MANDT [CLNT (3)]

STR_ID [CHAR (10)]

CISUB5 [CHAR (10)]

 FPOS-CISUB5 = FMMDCISUB5-CISUB5 

0..N

0..N

FMMDSTRID

MANDT [CLNT (3)]

MASDAT_ID [CHAR (1)]

STR_ID [CHAR (10)]

 FPOS-STR_ID = FMMDSTRID-STR_ID 

0..N

0..N

FMVORTR0

MANDT [CLNT (3)]

FIKRS [CHAR (4)]

VPTYP [CHAR (2)]

 FPOS-VPTYP = FMVORTR0-VPTYP 

0..N

1

TBDLS

LOGSYS [CHAR (10)]

 FPOS-LOGSYSTEM = TBDLS-LOGSYS 

0..N

0..N


